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L Purification of the Nty
a. All vessels that are in the wTpn are dipped
b. during 5, all o103 are instructed to avoid touching jnow
i. Reason:
1. m5w must be present "1nn” (v. 1)- cannot be taken to mpn
2. mp2a-also nMmn
a. asperv.2, analogous to jnYv (=>7nn)
b. our Xin - v. 2 there for placement
ii. challenge: 1NYY is a NMY NVYN PY 15— not NRMV Hapn
1. reason: all nkRmv must follow model of pw as per v. 3-> must be portable full and empty
iii. answer: (following %"’s interpretation of v. 4) since it is shown to oy during 5 to
show "n’s love (bread still fresh as per v. 5), it is ported full and empty
iv. challenge: should not be vulnerable to nkmv due to metal cover (as per ruling about
table that had piece eaten away and was covered)
1. suggestion: perhaps acacia wood (of jnYV) is significant and not 5va
2. rejection: as per 1IN "1, any wood stands, even if cover is temporary
v. answer: N9V is called yy (v. 6) 2> cover is disregarded
1.  homily on v. 6 — nam:n%w - both bring N9
c.  all vessels in the wTpn have backups (and double-backups) in case of nrmv
d. all vessels in the wTpn require n%av except for 2 altars
i. YR 7: since they are ypp
1. rnwmnnam-asperv.”7
2. 20T NAMENWINIA N as per v. 8
ii. Dnan: since they are covered (copper, gold)
1. meaning (a): »'non render vulnerable since they are covered
2. meaning (b): »'ndn respond to X" — YpIp is not the reason, rather nax is 5va
and insignificant (i.e. we don’t need reasoning of yp1p)
iii. concluding homilies on vv. 9-10 and significance of learning derived from antn nam
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